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QUESTION 1

An Alcatel-Lucent 7750 SR is configured with a policy to export directly-connected networks to BGP. Which of the
following commands verifies that the export was successful? 

A. show router route-table 

B. show router bgp routes 

C. show router bgp routes hunt 

D. show router bgp neighbor received-routes 

Correct Answer: C 

 

QUESTION 2

Assuming that "client1" and "client2" are directly-connected networks, what is the result of executing the following BGP
export policy? 
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A. "client2" routes will be only tagged with communities \\'East\\'\\' and "South". 

B. "client2" routes will be tagged with community "East". 

C. "client2" routes will only be tagged with community "South". 

D. "client2" routes will be rejected. 

Correct Answer: A 

 

QUESTION 3

Which of the following regarding BGP confederations is FALSE? 

A. The entire confederation is viewed as a single AS by an eBGP peer. 

B. Within a confederation, each member AS is considered as a stand-alone AS. 
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C. Member ASs within a confederation can use route reflection. 

D. Member ASs must be fully meshed within a confederation. 

Correct Answer: D 

 

QUESTION 4

Which of the following prefix-lists is the most specific match for prefix 172.31.2.1/24? 

A. Prefix 172.16.0.0/12 longer. 

B. Prefix 172.31.0.0/22 longer. 

C. Prefix 172.31.0.0/23 longer. 

D. Prefix 172.31.0.0/24 exact. 

Correct Answer: B 

 

QUESTION 5

Which of the following regarding BGP Path Identifier is FALSE? 

A. Path-ID is a four-octet identifier pre-pended to the NLRI field of a BGP update. 

B. Path-ID is an optional transitive attribute used to advertise multiple paths. 

C. Path-ID uniquely identifies each path advertised to a neighbor. 

D. A BGP speaker that re-advertises a route must generate its own Path-ID. 

Correct Answer: B 
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